
First Year Pharm. D. Examination

REMEDIAL M,{TIIEMATICS

( usc - 3s1r3 )

AV - 2;l6E

lN'llr. l\'1drk5 : 70

P Pagcs | 3

Time : Three IIoLrrs i

Note

(fl Evaluate

(l) Answer any Five qucstions liom Q. Two lo Q. Nine.
(2) Question no One is compulsory.
(3) lllustrate your answer wherever necessary with the help of Dettt sketches
(4) Use pen of Blue/Black inVrefill only for wrting the aNwer book.

I Attempt any Five oI the following :-
[z s-] [r -s-l(at If A=l- "l .B=l " 

,lLr 3.1 L-r 2r

Show that AB = BA = I

(b) Find fie value of sin2600 + tan2450-cosec2300

(c) Evaluate :

trn, .) Vl+x-l I'"-ot ^ I
(d) r,ina -9v

dx

(e) Find order and degree of differential eq,

,ify=s'r*51.6)(

(,*stJ-= 
[' 

. *: . (-J']"'

5
2+3 cosx

stn'x
dx

7-2
x 10

8l

(g) Find x if 0

ll
4 l5

=0
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2. (a) Find A-r b), Adjoinl method

t.b) Solve by using detemrinant (Cramer's Rule)

x+y+z= l, 2x+3y +z 4=0

4x+2.+4y=16

(c) Show that dre matrix

245
356

cosO 0 sin0

010
- sin0 0 cos0

(1+x)'- I

\

I

is an ortlrog(mal matrix

3. (a) Prove that
lcos0

cosec 0 cot e
l+cos0

(b) In any AAts(l (triangle AB(.), Prove that tltn A + tan B + tan C = tan A
tan B tan C 4

3

(c,
cosl0 sinl6

Pro\c thrt. - ---- a --- 
= 4 cos20cos0 sin€ .l

4. (a) Evaluate linr

(b.)

3

4

4

If y = (sin x)r's* . thcn find *.
F'ind -gL. ir y = 

x1-l
dx x--l

(c)

5. Find the Laplace Transtirrm of [re following

(a) cosh at - cos at

(b) 6c2t + 5e-rr -2cost + 1t3 + 2
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(c) \tn" -tt

(a) Il z = 3x2 + 2y2 + 4xy then

d2z dzz
lrnd 

- 
irnal 

-
dxz dy'

(b) lf v = (x2 + y2 + z2)-n prove that

dlv dlv dzv

-+-+-=0
dxz .)y2 dz2

7. Evrluate the following

6

(a)

8

(a)

(b)

(c)

fo et+e-*

e" - e-t

6

dx
3

(b)
fiJ2

J
cosx

dx
slrl\ + cosx

dx
(c)

rx x-

(a) Thc length of the tangent segment from thc point (-2, 3) to the circle
Zxz + 2y2 = a2 is \5 units. Then find the radius of the ctcte. 5

(b) A sffaight line, drawn through the point A(2, l) makes an angle frvith thc
+ve direction of x-axis and intersects another line x + 2y + 1 = 0 at a pt.

B. Find the length of AB. 4

(c) Find the angle made by the line x + \4y - 6 = 0 with the +ve direction

of x - axis. Z

4

.1

0

3

s
0

4

4

3

9 Solve (x2 - yx2; dy + (y2 + xy2) dx = 0

Solve (2xy + y-tany) dx + (x2 - xtan2 y + sec2y) dy = 0

Solve $} = (4x+y+ l)2

3

,1

l
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